H £ 0l & AF & S

Al A

SA S
3 s Fodg HUSH
SRl AIEHEE 29 (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
sts 945,077 999,686 A54,609
SetsS FRldE JHsd 767,740 802,849 135,109
ANEHAE 29 644,116 675,672 131,556
oy N2 325,428 328,700 N3,272
202 04l 1,368 1,440 NT2
01 =LH0i 1,368 1,440 AT2
O&= XXMl BiIXI0H
& 888,000 888 960 AT2
301 EtE NS 324,060 327,260 23,200
o7 8801 - 32243 310,100 313,300 13,200
Osd JlE=H¥ &2 236,800,000 236,800 240,000 13,200
XS SEAL (FRIE 04 252,032 280,000 127,968
201 fer23| 39,250 45,000 25,750
01 AtR2t2l] 14,250 20,000 AB,750
OuMDtS AAIX M=
3 14,250,000 14,250 20,000 AB,750
301 LBEEZ 100,928 117,000 A16,072
14 JIEt2 8= 100,928 117,000 N16,072
OFAAHE FHE LATAE XS AL
Z& 18,928,000 18,928 20,000 A1,072
OMASE & 2 NE A
Z& 15,000,000 15,000 25,000 10,000
OJIE1 lcte 2=t52 ME Atg
3& 20,000,000 20,000 25,000 25,000
401 AlZBIL LY 111,844 118,000 26,146
01 AlEZHI 111,054 117,200 26,146
Otli==2 D208 88X SAHASS 4H4-5
el 1HA) Z& 20,335,000 20,335 21,800 A1,465
Ot==2 JelloIg X SAHAES &H79-1)
d&d 20,094,000 20,094 21,800 N1,706
OEZs Sattt =did S EHl A
3 21,400,000 21,400 21,800 2400
O&ss S22 W FHXIE0DI(00A)
=M 2% 19,100,000 19,100 20,000 2900
OZ=0t2 ¥3teldl Ak
dd 20,710,000 20,710 21,800 21,090
O==2 HHAZUAS EX AL
d& 9,415,000 9,415 10,000 1585
FAUXX & HEH 29 64,656 64,972 1316
405 THAHFESHI 5,684 6,000 1316
01 TR ESF SHI 5,684 6,000 A316
OFQUXXIHE =8I 2L
33 5,684,000& 5,684 6,000 1316
MBI & ARE =AY 123,624 127,177 13,553
A2 == (FLUZ A0 93,624 97,177 13,553




S ANS
Hu: MMS FOIME BOSTH
o9l MEOIRIFZ U ARD A (chol @)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
401 AIEBI L 2OHE] 93,624 97,177 £3,553
01 A&t 93,624 97,177 13,553
OBY SOIOHIE FIB 22 QHFEu2r &
7 A% 16,318,002 16,318 17,177 £859
OBAIEZ 0201 EF A
A% 19,513,002 9,513 20,000 487
OFBYL HIEBT2 Hul BAt
A% 18,782, 0002 18,782 20,000 A1,218
OJIZe4EH ST BA
2% 19,011,002 9,011 20,000 £989
HH 2| (MAE) 177,337 196,837 19,500
REES 50,557 66,557 216,000
olzi2a| 50,557 66,557 216,000
101 124l 50,557 66,557 216,000
NS 50,557 66,557 A16,000
ONRIIZR4g A 45,123,002 45,123 61,123 A16,000
o= 2| 126,780 130,280 23,500
o= 126,780 30,280 £3,500
202 01t 39,700 43,200 £3,500
VT 39,700 43,200 3,500
OELIE 2% 39,700, 0002 39,700 43,200 3,500




